

multiplying by 2 and using (6), (9), and (10) gives

$$\frac{\partial}{\partial t} \left(\frac{H_0 q^2}{mn} \right) + \frac{\partial}{\partial x} \left(\frac{H_0 u q^2}{n} \right) + \frac{\partial}{\partial y} \left(\frac{H_0 v q^2}{m} \right) + \frac{\partial}{\partial s} \left(\frac{H_0 \Omega q^2}{mn} \right) - \frac{\partial}{\partial s} \left[\frac{K_a}{mn H_0} \frac{\partial}{\partial s} (q^2) \right] = \quad (13)$$

$$2 \frac{H_0 K_H}{mn} \left[\left(\frac{\partial u}{\partial z} \right)^2 + \left(\frac{\partial v}{\partial z} \right)^2 \right] + \frac{2 H_0 K_H}{mn} N^2 - \frac{2 H_0 g^2}{mn \theta} \epsilon + \frac{H_0 \Omega}{mn} \dot{q}$$

Surface Boundary Conditions

$$\frac{H_0 \Omega}{mn} = 0 \quad @ \quad s=0 \quad (z=s(\xi, \eta, t)) \quad (14)$$

$$\frac{K_a}{mn H_0} \frac{\partial q^2}{\partial s} = \frac{B_1^{2/3}}{\rho_0} \left[(\gamma_s^E)^2 + (\gamma_s^I)^2 \right] \quad (15)$$

$$H_0 K_H \left[\frac{\partial u}{\partial z}, \frac{\partial v}{\partial z} \right] = \frac{1}{\rho_0} (\gamma_s^E, \gamma_s^I) \quad (16)$$

$$H_0 K_H [N^2] = \frac{Q}{\rho_0 c_r} \quad (17)$$

Bottom Boundary Conditions

$$\frac{H_0 \Omega}{mn} = 0 \quad @ \quad s=1 \quad (z=h(\xi, \eta)) \quad (18)$$

$$\frac{K_a}{mn H_0} \frac{\partial q^2}{\partial s} = \frac{B_1^{2/3}}{\rho_0} \left[(\gamma_b^E)^2 + (\gamma_b^I)^2 \right] \quad (19)$$

$$H_0 K_H \left[\frac{\partial u}{\partial z}, \frac{\partial v}{\partial z} \right] = \frac{1}{\rho_0} (\gamma_b^E, \gamma_b^I) \quad (20)$$

$$H_0 K_H [N^2] = 0 \quad (21)$$